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Zi A A = A # A il £ K

Hh X 4 5 X i HH 5 X it HH 5 = it HH
il 2 1 13,967 14,526 28,493 13,076 624 692 1,316 894 14,591 15,218 29,809 13,736
= =} 1,412 1,471 2,883 1,153 6 19 25 18 1,418 1,490 2,908 1,159
ES = 3,117 3,276 6,393 2,677 67 96 163 128 3,184 3,372 6,556 2,774
F B 994 993 1,987 807 4 14 18 14 998 1,007 2,005 812
B & & 2,586 2,579 5,165 2,051 50 61 111 81 2,636 2,640 5,276 2,112
m H b 3,026 3,058 6,084 2,757 64 94 158 126 3,090 3,152 6,242 2,834
B & b 2,739 2,750 5,489 2,253 49 82 131 119 2,788 2,832 5,620 2,347
= = BT 2,397 2,536 4,933 2,185 17 29 46 37 2,414 2,565 4979 2,197
£ #A 719 811 1,530 723 1 4 5 4 720 815 1,535 724
= Eil 30,957 32,000 62,957 27,682 882 1,091 1973 1,421 31,839 33,091 64,930 28,695
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h A O ih A O i A O i A 0
R g | B % B e B gex | 8 [ £ | # #%|BE g | B [ & [ ¢  #ww|B gmR | B & |
il X 875 892 1,767 862 EEFHILEX 157 162 319 137 HERX 287 297 584 246 N — X 198 221 419 167
W F X | 1,299 1,381 2,680 1,259 _ | it X 144 155 299 107 t #H X 323 301 624 270 INHZX 176 172 348 142
kR T X 220 250 470 254| = BHEK 114 133 247 102 R EBRX 261 285 546 214 L] INH=X 282 294 576 229
= H KX | 1,634 1,743 3,377 1,453 BHIAK 338 360 698 2173 AERRX 68 66 134 65 IPHERX 646 637| 1,283 617
7 BT X | 1,657 1,795 3,452| 1,686 b2 ih X 479 484 963 383 = B B X 348 360 708 269 = RE X 444 431 875 369
IR X 228 229 457 215| B B X 186 196 382 157 TEREX 400 415 815 287 E N 375 401 776 288
== 21 23 44 18 HERX 241 242 483 192 EH 2 X 355 332 687 261
F R X 62 60 122 50 X 5t | 1,418| 1,490| 2,908| 1, 159 i REHEHX 394 363 757 310 pliy KX 230 234 464 207
U X 14 85 159 66 FIREX 136 129 265 111 BERX 85 81 166 66 T #H X 82 110 192 67
FIHTER 151 129 280 118 TREX 115 133 248 111 B B X 229 230 459 193
& X | 1,055 1,082 2,137 1,042 mE X 177 189 366 137 X 5t | 2,788 2,832 5,620 2,347
# 8 & X | 1,116 1,179 2,295/ 1,011 % FXRERX 227 249 476 193 H X &t | 2,636 2,640 5,276| 2,112 5 = 837 858| 1,695 733
B X 1,109 1,123 2,232 939 XILERK 389 476 865 434 - £ B 317 336 653 291
mEeE X 883 926 1, 809 913 FERX 307 291 598 244 REHFHK 285 267 552 20117 = % 125 113 238 121
EHHRKX 518 503 1,021 564 === 179 171 350 126 [ 1y i =3 127 138 265 118 % iR 310 314 624 316
T#HHRK 124 146 270 131 TEX 306 332 638 262 ORI =3 417 397 814 348|s= | Al [£3] 825 944| 1,769 736
F #® X 840 886 1,726 745 FIFERX 620 693| 1,313 525 =l 140 134 274 102
B BFERX 204 195 399 177 P THFEX 464 458 922 433| |H / K 318 339 657 275 X 5t | 2,414| 2,565 4,979 2,197
EE K 550 554 1,104 9717 HEBEBRX 186 172 358 134 & X 162 175 337 134 JE # 1 76 89 165 70
ERF X 469 472 91 422 A X 78 79 157 64 5 #h X 118 141 259 120 E B 251 329 580 294
AR X 406 397 803 325 i KERX| 1,464 1,507| 2,971| 1,472 #& 0 187 198 385 154
2 E X 219 269 488 241 M X 5t | 3,184| 3,372| 6,556| 2,774 " Er R 59 54 113 ME EMRN 67 69 136 58
ZE R 4t BT 38 34 12 30 === 32 33 65 39
I = 62 63 125 53 (= 278 258 536 218 H X 5t | 3,090 3,152| 6,242| 2,834 N H B #§ 76 67 143 68
FoERRX 117 802 1,579 665 F }FORX 356 363 719 298 = ¥ B 25 29 54 35
TFREX 215 242 457 178 SH 6 1 7 6
Hh X Et | 14,591|15,218] 29,809|13, 736 B J\F X 149 144 293 118
X 5t 720 815 1,535 724
#h X & 998| 1,007| 2, 005 812 FERFAsEt | 31,839(33,091|64,930 28, 695




